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:AVR ¢lyl

208 : CLASSIC - 1

(5T pbo (sl e, 0aliianls y50) 25z sS bl 5 b8 ISl : Tiny - 2

5555 ol g i oL : Mega- 3

Do pidion  Jlo | Sledlbol pox> (gl jlae Wl (gl il 2S5 o olaljai> 1o Slubee slojlow j0:aiSS

! !

aie e lae okl e— " 55leS
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R/W 10000 colls L g3, asky B Lsls FLASHALSL-16KB : 5 & oolsg asl, alisl> -6

S ST

Lgd o 0ile b aliigs gl dps Ojgo 4 aSulie ole alitl> LFLASH : aiss

=

SRAM _Lss alsél> (1KB)c,11024 -7

S VS,

R/W L 100000l b 55, 4ol L5 L5ls EEPROM absil> =512 -8

S VST,

EEPROM cbli>g FLASH aubs, Jas -9

S VST,

(st LNATG Lo ) b 5l can 553 EEPROMUFLASH ¢ 55, asli pJATG bl ) colls ~10

=

S o @l g s ligs Lass |, 1555 Sem iz Jlast SSTWI o Ly 1) 11

S ST,

PWM LA e (uilS 3 b s 16 123057 505 Sadlime (uilS 3 b s 8 23057 yogb s 20 il Sloogas

S VS,

50l 615 SP1 L3 5 C dons 55 US5g5s b L3 1 cdilie s FglbT oursS aglio So(ADC)A/D JUls8

S VS,

w9 G?)L'}s L_A:}‘.) 4.&§9 R LS‘)“)“’“V:’ o).,.“.]lf Gl:}b

S VST,

: BASCOM &l gm0

S VS,

Sregfile= "4 <o ol def.dat" 9 ,Sao G yre

Jus : Sregfile="m16def.dat”
Juws : Sregfile="m8def.dat”
Juws : Sregfile="at12def.dat”
Mg 9,800 093 Lawg) (Ao Jliw )5 Jangi |, )15 (ol Ol (g0 45 0giina oolitnl GuilS 9 adg (6l : Jlow S
s plnil(eg (o i sS slajlo plogi b g (Jbw 57 5le Glugijloolital 1) ()5 Jbw S Ly (998e

frax=16mMhz coil o Sow (6,5 uilS 8 00iiS Cpns Jliws S uil5 3

.
13
G
%
%

Scrystal =35 8 cus p uilS 3

Jw Scrystal-8000000

RN DX DN NN XN DN

AN AN AN AN AN AN AN AN AN
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S
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S
=

celo JSw=1/,5° uils ,6=1/8m=125™ el 5,500 Lawgi 5w 1o gl Sae cel JSw S

S
=

Sgiicna o3lil (1) Coodle 3 Ysameygiass b by 0,50 50 (Lol Sloedgs ols sl = s,k cuslosly

S
=

==
=

Jtw : B=45 “this is for test

S
=

S
=

end ;giws gl LasS oo hbgie | aalip g1yl 9,05 o 41,8 aslip LL o end jgiws s @nd)ast » o LL

==
=

S
=

by (oo anils anliyy g odgi Culpin Al S g ol Jlad 5f o ady plos

S
=

Jiw : Sregfile="m16def.dat”

==
=

S
=)

Scrystal=8000000

==
=

| DO P
| P
¢ PORTB=50 Sl @il> )
y LOOP d
| P
( END > e o ol )5 ey S s bl ]

S
=

look up Jglax g o pursecslocl

gte o3liinl g 5y9ms 3l ptie So am Glaled ln et (gamdlens
Dim var as [xram,sram,eram]

Data type [at location]

Bit 1 0,1

Byte 8 0 to 255
Integer 16 -32768 to 32767
Word 16 0 to 65535

Long 32 -2147483648 to 2147483647
Single 32 3.4* 10" 38 1.5* 10" -45
String ALy jaia

FOEEREDREDXNEDRNEEXNEDNEERNEDNEEXNEDXNEDXNEDNEEXNEERNEERNEERNENED

ei

OO



)

|

W

SE= VST ST O ST VST O ST 9 ST O ST O ST 8 ST O CE VST VST O ST O ST VST ST O CE O ST O ST,

BN EDNEEXRNERNEEXN RN XN EEXNEERNEEN NN

)
)
)
)
)
)
)
)
)
)
)
)
)
)
%
)
%
)
%
)
%
)
%
)
%
)

|
[
|
[
[
[
|
|
|
|
|
|

AVR sla )l iS5 Saa

Decr B ‘B=-1

decr  var ASen o o 5l axly SO [@
)

incr var WS a8lo] e 4 -l SO [é

)

Jis:Decr A ‘A=A-1 [é
9%

Jie: Incr A ‘A=A+1 [@
)

Ellme Sllas pl8an ;3 oge G )

)

Al Al 0sz g (Slles Hews Sl s aelip L 2 o - [é

9%

g

il oSy b ssles By 5o Jol> s - Eé

9%

S5 ol 55 6l Ui, & olgs sey el olit] jgtws ol Jle Hleie 4 : A=B+C+D %

9%

Jis : E=B+C ‘E=B+C )
)

A=E+D “A=E+D )

9%

Jis:Dim A as byte,B as word [@
)

A=255 )
B=255

) )
Incr A ‘A=0 [@

)

Incr B ‘B=256 )

9%

Jis:-Dim A as word,B as integer
)

A=0 Y
B=0 )

)

Decr A ‘A=65535 )

9%

)

)

)

)

)

6 ohlie dgh 8 eaSUiil 3

: decreas,increase ,g.o i

)
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AVR ol S5 Saa Bt 2el 8 2230

W

28,5 o s ol b sl SEriNG site 5l oolawl & yg0 o

S ST

le:Dim s as string*10
J g

S VS,

ol S5 10 Jobo 4 oledy SIMNG g4 518 o 398 Jlie yo

S VS,

gl oo oolaiwl sae sl o &Hy &B jgiws 5l bing HEXslael il sl BIN g HEX slael jisles

=

Jiw : PORT B=&B10010001

S VST,

Jie : PORT B=&H55

S ST,

i 79> )92 PORT L PIN G iy o5

S ST,

e Do Oye So iy -1

S VST,

Config port x =output x=Aor BorC or D

S VS,

Jis : Config  portC=output

=

LT Dy by SO i -2

S VS,

Config portX.Y=output x=name of port y=0 to 7

Jts : Config  portC.2=output
: 699,9 &9 PORT L PIN G iy a5
F§09,9 Ly Dygy Sy iy -1
Config  pinx=input
Config portx=input
Jis : Config  pinA=input
Jis : Config  portA=input
F609y9 Dz ly Sy ya5 -2

Config  pin x.y=input

Jts : Config  pin D.2=input

)
)
)
)
)
)
)
)
)
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)

: CONSt jgws

S ST

o, aal, by gl as, (goae 1 const  symbol

S VS,

Jis : Const  s="test”

=

Jis:Const  A=5

S VST,

Ji:Const B1=&B1011

S VST,

Jts : Const x=(B1*3)72

=

‘05-‘;3 ‘54 QQL&,'_M;‘ ””o.. RS-.’. ‘AL; )_:_:_i_‘; 6‘)_?)9:_“)& Q_i‘ )" . ALIAS )9@0

S ST,

Jie @ direction alias portb.0

=

f s )
g PB2 [IO HO PB1 g
[ (o] 9
( o o el 22 g
i ] reociocs 3
| o S e <1 )
i o 5 )
{ S| L P Al 1 )
a] ATMEGAS [a
T LED2
( ' )
( Sregfile = "m8def.dat" Config Portd.3 = Output )
f )
é Scrystal=8000000 Pb1 Alias Pinb.0 Eﬂ
Config Pinb.0 = Input Pb2 Alias Pinb.1
g Config Pinb.1 = Input Led1 Alias Portd.2 g
( Config Portd.2 = Output Led2 Alias Portd.3 )
( )
( )
var=low(X) low jgiws

2= [a
f S e opdVaAr o, wabw8dﬁﬁ)}wé
( )
( Jie : A=low(&H56F2) ‘A=F2H )
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)

iz WS

,
i AVR 51 58 5 5 e 3 8 0251
f

N—

var=high(x) : High jgius

==

S
=)

&S eopdVAr o X osie oYU w8 559 5w

S
==,

S
==,

B2=High(&H56F2) ‘B2=56H

==
==,

S
==,

var=len(string) :LEN jgiwo

S
==,

==
==,

WS e ptete | and, S gle 2SS slass ke 4 by Jsb gies o)

S
==,

S
==,

s ; s="test”

==
==,

S
==,

A=len(s) ‘A=4

==
==,

==
==,

JUs 1 S="this is a test”

==
==,

S
==,

A=len(s) ‘A=14

S
==,

==
==,

var=mid(varl,st,L) : MID g0

S
=0

S
=

op>d VAl josie o gailoy S L Jsb aygSt oSS 5legi Ll varl as, 5l ciewd jgiws ol

K=

2
G

N AN AN AN AN AN AN AN AN,

Jis:dim s as string*15,2 as string*15
s="ABCDEF”
Z=mid(s,2,3)
print Z ‘Z=BCD
Rotate var,left/right,shift : Rotate ,giwo

A=&B01111100

Rotate A,left,2 ‘A=&B11110001
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Bl g, el Lp g al,C oyp a Ja led sue 8 4 ssgn ol 4l Jlo
il by, Led oKy Lais alasd a0 : sl <l

ﬁ DA
N
U1 | L1
=) RESET PCO/SCL | —22 A b2
PC1/SDA 23 N
3 - 24 L~
I2 XTAL1 PC2/TCK
XTALZ PC3/TMS =
PcaTDO |—29 Aps
AQ 27
32 PAO/ADCO PCS/TDI 2z 3
PA1/ADC1 PCE/TOSCT
e PAZ/ADC =} PC7/TOSCZ 20 ﬂ
34 PA3IIADCS 4 D4
= PA4/ADCA PDO/RXD 12 1
== PAS/ADCS PD1/TXD =
=t PAG/ADCE PD2ANTO hd ﬁ D5
PA7/ADCT PD3/INT1
PDa4/OCT1B 18 N
1 . z 19 L1
= PBO/TO/XCK PDS/OC1A 5
= PB1/T1 PDG&/ICP1 =9 Apbe
= PB2/AINO/INT2 PD7/OC2 g
2 PB3/AIN1/OCO
I PBASS 1
PBS/MOSI -
£ PBE/MISO AREF [—22 l"? D7
PB7/SCK AvVCC 11
ATMEGA G A
D8
M~
L1 —1

: Jgl >
o3les ay 5301 Sy 5 ool L

Sregfile = "m16def.dat" port c=8

Scrystal=8000000 wait 1

config  port c=outout port c=16

DO wait 1

port c=0 port c=32
wait 1 wait 1
port c=1 port c=64
wait 1 wait 1

port c=2 port c=128

wait 1 wait 1
port c=4 loop
wait 1 end

12
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AVR sla )l iS5 Saa

Dim A As Byte, S As Byte
A=0:5=0

DO

port c=A

A=27S

Dim A As Byte
A=1
Do

Portc=A

DO

port c=0
wait 1
port c=1
wait 1
port c=3
wait 1
port c=7
wait 1

port c=15

wait 1

2]
Gohie ngd A saSE [H

6y b by oSl 5l eolaul b

incr S: wait1l

==

O

if s>7 then s=0

X=X

loop

XK=

end

X=X =0

:rotate oo 3l eolaiul b

X=X

Rotate A, Left, 1

X=X

Wait 1 @
Loop [@
)]

End [@
: pg > 1)

y

ool 22951 S 5l oolazl Ly

port c=31 @
)]

wait 1 )

port c=63
y

wait 1
port c=127 9
wait 1 )
- )
port c=255
wait 1
y

loop
y

y

y

end
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i AVR sl 1S 5 Sae 5 okiie Mg s S sl
f

N—

L ks o
: ‘5.4:[.3.) )l.’l.>L.u )| oolaiu! b

==

{ Dim A As Byte incr s )
g S=0 wait 1 %
i DO if s>8 then s=0 [é
( A=2"s loop [@
@ - )
( port c=A end [@
) : Rotate sl 5l oolaul b [@
g dim A as byte incr A %
9] A=0 wait 1 [é
i DO loop [@
e] )
( port c=A end )

S
==,

Rotate A, left

S
==,

:format 5w

==
==,

==

=

s

WS o (20 STy (gous (g A, SO jgiws ()

S
=

Target = Format(source, "mask")

K=

Jls : 5="123"
s=format(s,”+"”) ‘s=+123
Jbs : 5="123"
s=format(s,”00000") ‘s=00123

:fusing jgiws
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[ AVR sla )l iS5 Saa s ohlie ngd (i 0aSl

:lookup Jgo=

S ST

S5 gz 1y alyo Jade ol o Jyaz ool s

=

var=lookup(value,label)

S VS,

odls asein [abel b Jgaz ol a5 oo sailgs> (N=value) Jga ol N ails 51 1as 5550 oolocygiws ol 5l eolawll

=

D (50 0 I VAN jiiie ;5 0dl oilys e g Conl

S VS,

Ak 08 4 pamie Wb Jyu el -1

=

Sy aidg end jeiws 3l ow Sl Jgo -2

S ST,

D9 (50 E9y0 x 4y yhodl Jguzr lo 4l -3

S ST,

39 (o0 0, >3 VAN )5 g 0l odilss Jgaz jleslo VAl s g9 4 ais -4

=

Sl (5 8 Jgor &> 12 -5

S VS,

2L 655355 0 ey wilgs o 285 5 o0ls e -6

=

[ Jtw - a=lookup(0, tab;) ‘a=4
d b=lookup(6, tab,) ‘b=150
(

end

tab1:

data 4,8,16,32,75,100,150

(74
St
[\

7y

S amas 5l wledlbl sty -1
)i 5l leMbl 380 yaslgs -2
Ol IS -3

:lookupstr o>

S5 g 1y ol i, ol e s ol Lo

var=lookupstr(value , label)

)
)
)
)
)
)
)
)
)
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Sl 5 3, 5

S ST

<> b => Golas b i8> 65 >= oo b 15,5

S VS,

var=exp(var) ‘var=e""; exp b

S VS,

var=log10(var,) ‘var=logiovar; :10g10 «b

=

var=log(var,) ‘var=In(var,) :log &b

S VST,

var=rnd(limit) :rnd &b

S ST,

QS e adgs limit B0 oo cose Solas sae SO jgiws oyl

S ST,

& lael sae G 0,5 wig, sl round &b

=

0 Jtw: a=round(2.3) ‘a=2

f

( Jke: a=round(2.8) ‘a=3

g Sy o 0 S S S bl Ko 5 S el s SEE gt
f set portx.y

D9y 0 )5 4 Oyg sl al SO L SO oS Hhe gl ireset jgins

reset port x.y
Zye JSE 0dgiin,9)0,8 LusSins |y o oy ibaie e ls3 oo i ol 5l oolinl L : toOgle 5o
toogle port x.y (3%
bit wait pin x.y,set/reset : bit wait jgews

G ygo kil oo BBgie )l bas 0wl caisreset U sete X g 51y con aSilej U jeiws (pl lawgs

Dol oo Jiie day b sl gl byl (5,15

bitwait pin x.y, set/reset

)
)
)
)
)
)
)
)
)

3
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AVR sla )l iS5 Saa bt ngd (S eaSbil

==

S
=)

9, Ls.odg‘ od;uaz.wo ASS.A)Q]AJ J..w) ° u‘)wd U"‘ AJGA_99 jjimjmpj gOtO”Mo

S
==,

X=X

f jmp/goto label J
i o )
( 10,5 cole, label ool piig oK wb a5 SIS [é
i il 55 4 jamie wiblabel gl -1 @
i )
( sl " " codle label gl oL -2 [é
g sl vae Wil s label Llawl &> -3 %
( il sde 5 B> oS 5 il . label rw1_4
g .DO - LOOP ail> %
{ Dpo [é
f g
H] Sl giwd [é
i loop [ until L,s] y

S
=0

Wsd oo Lzl Slygiws wily 8 ail> bos oS Sl b cdls ol )

S
=

K=

220 L B &g 69,2 1,100 B 1 slael a5 svns g (ol 4ol o Jlie

Sregfile="m16def.dat”
Scrystal=8000000
config PORTB=output
dim a as byte
DO

PORTB=a

incr a

wait 1

loop [until a<100]

end

AN AN AN AN AN AN AN AN AN

17

OSSOSO
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f
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R EXNEDNERNERNEDNEDNEXN XNV

BN EDNEEXRNERNEEXN RN XN EEXNEERNEEN NN

AVR (sl )1 S 5 Saa s e el B 0250l
: FOR — NEXT ail>

==

for var=start to end [step value]

X=X

Q‘)slwo

XK=

next

=

end o1 Sl jladeg start 7 adsl Jlade a5 auS o o 00i)leds &g 4 45 Cewl (G yuuiiie VAT

XK=

QS S > 5 ax Lend bstart )l S jasie 45 cowl soae Step value

XK=

Jis : for j=1 to 100 [2]

X=X

portb=j

X=X

next

X=X

Jie - for k=250 to 10 [-5]

K==

portb=k

X=X

next

X=X

- while —wend ail>

==

s

X=X

Wbyl 8 s dal> bl aS ol o aslol Sy U adls [ ST aS s 0 6,1,0 5 il SO LS o]y giws oyl
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wend
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while a<=10
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portb=a
wait 1
incr a
wend
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end if
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S VS,

Jis :if pinb.3=1 then set portb.4

=

Jis :if pinb.3=1 then incrA

S ST,

Sole bl ygiws bl wub Jsl then sl ow las 4 &l jgiws ctasboil jgiws SO 51 i Olygiws slaws [51-2

23,8 uay'mend if

SE= O ST O ST,

Jis :if a=4 then end if

=

set portd.2

S VS,

reset portb.1

=

wait 1
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Ll Ly 5 mtdon g by giass (6 pms g LT (glyl 4y a5 gl andls calides by diz 45350 10 -3
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if 1L, and 2L,» then
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end if
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if 1b,s or 2L,» then

C‘.:ba.‘l.mb

end if
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Sregfile = "m16def.dat"

S VST,

Scrystal = 8000000

=

Config Portd = Output

=

Config Portb.0 = Output

S S,

Dim A As Byte
(!

A=0

DO

Portd = A

if 1L,» then
1o, 90w

else if 2L,: then
2 gm0

else

(end if )l 5l ow g &l s
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If A>10 And A< 20 Then
Set Portb.0
Wait 1

Reset Portb.0

End If
Wait 1 Eﬂ
Incr A
Loop
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a] AVR sla )l yiS 5 Soa ohtie gl 8 028Gl [a

@ Jaio ledgs cuxsg pinb.24 pinb.1ay Laie ol 90 Cundy juds @ a9 b aS dimngi gl sl p: Jlio

Q2o o |, portd.24 portd.1

om

RESET PCOISCL
1sm PC1/SDA :gz
152 xTALs pc2ok (223
1281 wTAL2 PCaTMS (222
a0m PCATDO Fg57
222 PaciaDco Pcs/TDl (221
S2o PataDe PCETOSC |aa
PAZ/ADC2 PCT/TOSC2
" " 37: PAZ/ADC3
3o PaaiaDca PDO/RXD
=25 PasiaDcs PD1/TXD
e ] PD2/INTO
- - PAT/ADCT PD2/INTI
. PD4/OC1B
— & PeOTOXCK PD5/OCTA
== Peimi PD&/ICP1
321 Pez/ainonT2 PD7/0C2
2o Peviaintioco
Sol Peass
= = So Pasmios
PBE/MISO AREF
[] R2 ] R1 881 pa7/SCK avee |22
330 330
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Sregfile = "m16def.dat"
Scrystal = 8000000
Config Pinb.1 = Input
Config Pinb.2 = Input
Config Portd.1 = Output
Config Portd.2 = Output

Set Portd.1 : Reset Portd.2

End If

If Pinb.1 =0 And Pinb.2 =1 Then
Reset Portd.1 : Set Portd.2

End If

If Pinb.1 =1 And Pinb.2 =1 Then

Do Set Portd.1 : Set Portd.2
If Pinb.1 =0 And Pinb.2 =0 Then End If

Reset Portd.1 : Reset Portd.2 Loop

End If End

If Pinb.1 =1 And Pinb.2 =0 Then

Sregfile = "m16def.dat"
Scrystal = 8000000
Config Pinb.1 = Input
Config Pinb.2 = Input
Config Portd.1 = Output

=X

N

Sy ol oo ook b el

Config Portd.2 = Output
Do
If Pinb.1 =0 And Pinb.2 =0 Then

Reset Portd.1 : Reset Portd.2

Elseif Pinb.1 =1 And Pinb.2 =0 Then
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Set Portd.1 : Reset Portd.2 Set Portd.1 : Set Portd.2
Elseif Pinb.1 =0 And Pinb.2 =1 Then End If
f
( Reset Portd.1 : Set Portd.2 Loop
f
é Else end
() % s
g Sregfile = "m16def.da" Else
0 Scrystal = 8000000 Reset Portd.1
g Config Pinb.1 = Input End If
Config Pinb.2 = Input If Pinb.2 =1 Then
f
( Config Portd.1 = Output Set Portd.2
g Config Portd.2 = Output Else
() Do Reset Portd.2
( If Pinb.1 = 1 Then End If
]
f
Set Portd.1 Loop

S VS,

Sregfile = "m16def.dat" Config Portd.2 = Output

Scrystal = 8000000 Do

Config Pinb.1 = Input Portd.1 = Pinb.1 : Portd.2 = Pinb.2
Config Pinb.2 = Input Loop

Config Portd.1 = Output End

:select case ,gwo

Sges |21 Vara az g b 1) Sl jgiws paiz 5 (S olgs (o0 Josdlgiws cnl 5l oslial b
select case var
case testl: 1), ghw

case test2: 2l s

case test3: 3 s
end select

)
)
)
)
)
)
)
)
)
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PD4/0OC1 B D5
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PB5/MOSI

PB&/MISO AREF |—=
R1 PB7ISCK AVCC

330
ATMEGA16 Ds L
- u .

[y] B [T (8] B
LILILILIL
LIL]
ol
=] [¢o]
B =
Bgn
o0

@
n

| |
oo~
LI
|oau
=1 ¥]
[ |
50

-.\|

Sregfile = "m16def.dat" Case 0 :Portd=0
Scrystal = 8000000 Case1:Portd=1
Config Pinb.1 = Input Case 2 : Portd=3
Config Portd = Output Case 3: Portd=7
Dim A As Byte Case 4 : Portd =15
A=0 Case 5: Portd =31
Do Case 6 : Portd =63
If Pinb.1 =1 Then Case 7 : Portd = 127
Incr A Case 8 : Portd = 255
Wait 1 End Select

End If Loop
IfA>8ThenA=0 End

Select Case A
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config kbd=portx , debounce=vall, delay=val2
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36m m1i4
ca—u]c 2|13 = 357 Pagiancs PDAMXD _g/-‘.-—
%] pariancy i Cira— I |
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ATMEGA32
Sregfile = "m32def.dat" If A=16 Then Goto L1
Scrystal = 8000000 A = Lookup(a, Dat1)
Config Portd = Output If A>9 Then Goto L1
Config Kbd = Portb , Debounce =50, Portd = A
Delay = 100 Loop
Dim A As Byte End
Do Datl:
L1: Data 7,8,9,11,4,5,6,12,1, 2,
A = Getkbd() 3,13,10,0, 14,15
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——] XTAL2 PCHTMS
w06 [] []
40m PC4TDO (2=
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PA4/ADCA PDO/RXD T@-ﬁ
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=— PA7/ADC7 PD3/INT1
PD4/0C1B

PBO/XCKITO PD5/OC1A

PB1/T1 PD6/ICP

PB2/INT2/AINO PD7/0C2

PB3/OCH/AINT

PB4/SS

PB5/MOSI
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[ AVR sla )l iS5 Saa s ohlie ngd (i 0aSl
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0 Sregfile = "m32def.dat" A = Getkbd() 0

&
| $regfile = "m32def.dat" If A = 16 Then Goto L1 )
f )
é Scrystal = 8000000 A = Lookup(a, Dat1) Eé
0 Config Portd = Output If A=16 Then Goto L1 [é

&
g Config Kbd = Portb, Portd = A %
( Debounce = 50, Delay = 100 Loop [é

&
f Dim A As Byte End [@
g Do Datl: %
0 L1: Data 127, 255,16,16,15,31, 63 [é

,16,1,3,7,16,16,0,16, 16

==
==,

==
==,

S
==,

(Cugs CASE g LTy ol gy o &S k3 aali p yled) Cligh lgs S0 g Dye0 ool 4

S
==,

&
(0 Scrystal = 8000000 Case 1:Portd=1 [@
g Config Portd = Output Case 2 : Portd =3 E%
( Config Kbd = Portb, Case 3 : Portd=7 [é
Debounce =50, Delay = 100 Case 4 : Portd = 15 [@
f )
é Dim A As Byte Case 5: Portd =31 Eﬂ
Do Case 6 : Portd = 63
g L1: Case 7 : Portd = 127
(0 A = Getkbd() Case 8 : Portd = 255 )

QO
f If A> 15 Then Goto L1 End Select )
A = Lookup(a, Datl) Loop
( If A>8 Then Goto L1 End
& Select Case A Datl: )
( )
Case0:Portd=0 Data7,8,9,11,4,5,6,12,1, é

2,3,13,10,0,14,15
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Do isles d Oye (9, 2 g 48,5 oS amas 5l 1, (0V255) 508y dus 038 S5 45 dn g (gl Al r Jlie

D pdi |y goae Gae pl 409 8,l0KS by, asl5 1) led-error 052551 55 5 eas o1y sae )31

VX EEX XX XN EXNEENENENEEXY
(5 e yed i o2

ERROR
u
D1
PoUSCL |22 = . =
- PC1/SDA [223
A=A 7 1819 sl oD
Pc4/TDO (228 i\
PCS/TDI D3
= [P
B<}—28 PCB/TOSC1
4 5 6 PC7TOSC2 |22 = =
mid D4
PDO/RXD s
u m15 u u
caie[1] 2][3 W s
PD3/INT1 | D5
PD4/OCIB —6%—
D <t+—=—D 0 4 PDS/OCIA =12 - -
PD&ICP |22 D6
-2
- ~ . < PD7/0C2 —~ =
30 = w
1 2 3 4 AVCC 52 D8
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Sregfile = "m32def.dat"
Scrystal = 8000000

Config Portd = Output
Config Pina.1 = Output
Config Kbd = Portb,
Debounce =50, Delay = 100
Dim A As Byte , B As Byte
DimC As Byte , Pass As Word
Do

L1:

A = Getkbd()

If A>15 Then Goto L1

A = Lookup(a, Datl)

If A>9 Then Goto L1

L2:

B = Getkbd()

If B> 15 Then Goto L2

B = Lookup(b, Datl)
If B>9 Then Goto L2
L3:

C = Getkbd()

If C> 15 Then Goto L3
C = Lookup(c, Datl)
If C>9 Then Goto L3
Pass=A *100
B=B*10

B=B+C

Pass =Pass+B

If Pass > 255 Then

Portd=0

Set Porta.1 : Wait 5 : Reset Porta.1

Goto L1
End If

Portd = Pass

E

K=

OO



AVR sla )l yiS 5 Soa
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W

¢ Loop
0 End
() Datl:

SE= ST O ST,

Sregfile = "m32def.dat"

=

Scrystal = 8000000

S VST,

Config Portd = Output

=

Config Pina.1 = Output

=

Config Kbd = Portb,

S ST,

Debounce = 50 ,Delay = 100

=

Dim A(3) As Byte, | As Byte

S VS,

Dim Pass As Word , B As Byte

=

L2:

()

0 Do

i Forl=1To 3
L1:

A(i) = Getkbd()

If A(i) > 15 Then Goto L1
A(i) = Lookup(a(i) , Datl)
If A(i) >9 Then Goto L1
Next

Pass = A(1) * 100
B=A(2) * 10
B=B+A(3)

Pass =Pass +B

If Pass > 255 Then

Portd =0

BOEEREDRNEDNED RN DN EEX NN EEXN RN EENEEXN NN

ei

OSSOSO

(5 e yed i o2

Data7,8,9,11,4,5,6,12,1,
2,3,13,10,0,14,15

Flg (lge 8 Oj9e ol 4
Set Porta.1: Wait 5 : Reset Porta.1
Goto L2
End If
Portd = Pass
Loop
End
Datl:
Data?7,8,9,11,4,5,6,12,1,
2,3,13,10,0,14,15
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S ST,

(RS,EN ,RD/WR ) Lo 3 4 (DO~D7) osls : lcd sle 4L,

=

Ground «———  VSS1 e 4l Jlas!

S ST,

+5 «— VDD: 2

S VST,

Controst «—— VO:3

=

¢ RS : 4

() R/W: 5

f

a] En: 6
DO~D7 : 7~14

led back light: 15,16

o S ledalrin 5l aSul 4 axg5 Loy, oo ,5 & led (5 amin jo iie b ailss cg 5 o)t ab

D9 oo oy (ry s ojlgen wly cplols plil ) ailes Slles g5

:
1

Config lcd=lcd type
J% : Config lcd=20%*2
Dl oo a8 S Al o 16*1. lcd £5 220 L Sl o
tled ol son Sy

Sges 00latwl DAYDT7 wl oz 5l olys oo led (g9, 2 ools Lol sy
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AVR ol S5 Saa Bt 2el 8 2230

20,5 o S config led bus=8 jgiws ciwwl 0gi solaul ools Jlu,l sl DOVD7 5l wualysy a5 50,0

W

S ST

Sgd oo oolatuwl ools Jluyl gl asl 4 5l (5,8 iw <>y

S VS,

:5en 4 led sl ey s

SE= ST O ST,

Config lcd=pin, db4=pinx.y,, db5=pinx.y, , db6=pinx.y., db7=pinx.y4 ,Rs=pinx.y.,E=pinx.y;

=

J% : Config lcd=pin, db4=pinb.2, db5=pinb.3, db6=pinb.4, db7=pinb.5,Rs=pinb.0,E=pinb.1

S ST,

led X g

S ST,

il ST G g e SO L g Al Sl sae SO wily o X

S VS,

JUs: Led 23

=

Jhe : Led “23”

S VS,

Jia : B=45

=

I_Cd IIbII

S VS,

Jis 1 S="this is a test”

Led s

:home g0
Dl JEsl sl 13 T 0 as ylaw Ggiw gl a1y s e o)lg oo ygims ol 5l oolazwl b
locate x.y : locate qiws
(Gl Xe giw VD098 o0 osliinl (iales oo (03,5 atein sl jgiws (a3l
S5 oo o3liiul ()3l SLIS wim iales 6l

Jis:Led a;b;“hi”; 13
298 (oo o3liinl ()3 g daz el sl

Jis: Cls :home:lcd a

Jixs : Cls :locate 2,14 :lcd 3
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28| RESET PCOSCL |52
a] - 5 PC1/SDA 225 15 [ﬂ
A< A 8 9 > x7AL PC2/TCK 522
XTAL2 L
ﬂ] som PCampo (528 [ﬂ
PAOIADCO PC5/TDI aw
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Sregfile = "m32def.dat"

S
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Scrystal = 8000000
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Config Lcdpin = Pin, Db4 = Pind.4, Db5 = Pind.5, Db6 = Pind.6, Db7 = Pind.7,

==
=

Rs =Pind.1, E =Pind.2

S
=

S
=)

Configlcd =16 * 1

==
=)

Config Kbd = Portb , Debounce =50,

S
K="

S
=

Delay = 100

Dim A As Byte

Do

L1:

A = Getkbd()

If A=16 Then Goto L1
A = Lookup(a, Datl)
Cls :cursor off: Home : Lcd A
Loop

End

Dat1:

Data7,8,9,11,4,5,6,12,1,2,3,13,10,0,14,15
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a] ATMEGA32 - [ﬂ
g Sregfile = "m32def.dat" Lcd "kbd off" E:
0 Scrystal = 8000000 locate 2,4:lcd"press ON/C" )
Config Lcdpin = Pin, Db4 = Pind.4, A = Getkbd()
g Db5 = Pind.5, Db6 = Pind.6, If A=16 Then Goto L1 E:
0 Db7 = Pind.7, Rs = Pind.1, A = Lookup(a, Datl) ()
E =Pind.2 If A<>10Then Goto L1 Eﬂ
i )
( Config Lcd =16 * 2 Cls : Home : Cursor Off )
f Config Kbd = Portb, Lcd "enter:" )
Debounce =50, Delay = 100 L2:
Dim A As Byte A = Getkbd()
i Do If A> 15 Then Goto L2 )
( g
( L1: A = Lookup(a, Datl) )
() Cls: Locate 1,6 If A=10Then Goto L1 ()
f y
@
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If A>10 Then Goto L3 Case 12:

Cls : Cursor Off : Lcd "enter:" ; A Locate 1, 7 : Led "*"

Goto L2 Case 13:

Loop Locate 1,7 : Led "-"

End Case 14:

Datl: Locate 1, 7 : Led "="

Data7,8,9,11,4,5,6,12,1,2 Case 15:

,3,13,10,0,14,15 Locate 1,7 : Led "+"

L3: End Select

select case a Goto L2

Case 11: Return

Locate1l,7:Lcd"/"
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Sregfile = "m32def.dat"
Scrystal = 8000000

Config Pind.0 = Output
Config Pind.1 = Output
Config Pind.2 = Output
Config Kbd = Portb , Debounce =50
, Delay = 100

Dim A(3) As Byte, | As Byte
Dim B As Word , Pass As Word
Dim Error As Byte

Do

For1=1To 3

L1:

A(i) = Getkbd()

If A(i) = 16 Then Goto L1
A(i) = Lookup(a(i) , Datl)

If A(i) >9 Then Goto L1
Next

B=A(1) * 100

A(2) =A(2) * 10

Pass =B + A(2)

Pass = Pass + A(3)

OSSOSO

SEXSEEX S EDEEX S EDEX S EEVENEENENEVEXT
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If Pass =999 Then
Set Portd.0

Wait 1

Reset Portd.O
Error=0

Else

Incr Error

Set Portd.1

Wait 1

Reset Portd.1

End If

If Error = 3 Then

==

Set Portd.2

X=X OXK=O

L2:

K=

Goto L2

End If

Loop

End

Dat1:
Data7,8,9,11,4,5,6,12,1,2
,3,13,10,0,14,15

AN AN AN AN AN AN AN AN AN
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0 CORRECT — ()
g Sregfile = "m32def.dat" Dim Code As Word , Error As Byte E:
Scrystal = 8000000 dimB As Byte
i Config Pinc.0 = Output Code =7421 )
( )
( Config Pinc.1 = Output Do )
Config Lcdpin = Pin , Db4 = Pind.4 L1:
g Db5 = Pind.5, Db6 = Pind.6, Cls: Locate 1, 6 : Lcd "kbd off" E:
Db7 = Pind.7, Rs = Pind.1, Locate 2,5 : Lcd "pers ON/C"

() )
E = Pind.2 B = Getkbd|()
g Configlcd =16 * 2 If B=16 Then Goto L1 g
Config Kbd = Portb , Debounce = 50 B = Lookup(b, Datl)
? , Delay = 100 If B<>10 Then Goto L1 Eg
f

( Dim A(4) As Byte, | As Byte , W(4) Do )
DimAs Word , Pass As Word L4:
g 36
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Cls : Home : Cursor Off

Lcd "enter pass:" : Locate 2, 7
Forl=1To 4

L2:

A(i) = Getkbd()

If A(i) > 15 Then Goto L2

A(i) = Lookup(a(i) , Datl)

If A(i) = 10 Then Goto L1

If A(i) > 10 Then

Cls : Locate 1, 6 : Lcd "error"
Locate 2,1 : Lcd "plese enter 0~9"
Set Portc.1: Wait 3 : Reset Portc.1
Goto L4

End If

Led "*"

W(1) = A(1) * 1000

W(2) = A(2) * 100

W(3)=A(3) * 10

W(4)=W(1) + W(2)

W(4)=W(4) + W(3)

Pass = W(4) + A(4)

Next

If Pass = Code Then

Cls: Locate 1, 3 : Lcd "Correct pass”
Set Portc.0

Reset Portc.1
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Wait 3

Reset Portc.0

Error=0

Else

Cls : Locate 1, 3 : Lcd "Invalid pass”
Locate 2, 3 : Lcd "ENTER AGAIN"
Set Portc.1

Reset Portc.0

Wait 3

Reset Portc.1

Incr Error

End If

If Error = 3 Then

==

Cls: Locate 1, 7 : Lcd "Holt"

X=X OXK=O

Locate 2, 4 : Lcd "plese rerun”

K=

Do

Loop

End If

Loop

End

Loop

End

Datl:
Data7,8,9,11,4,5,6,12,1,2
,3,13,10,0,14,15
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Sregfile = "m16def.dat" Case 1 To 6:
Scrystal = 8000000
If D> 31 Then
Config Lcdpin = Pin, Db4 = Pd.4,
D=1:Incr Mo
Db5 = Pd.5, Db6 = Pd.6, Db7 =
End If
Pd.7,Rs=Pd.1, E=Pd.2
Case 7To 11:
Dim S As Byte , M As Byte
If D> 30 Then
DimH As Byte , D As Byte
D=1:Incr Mo
f Dim Mo As Byte, Y As Byte
D=1:Mo=1:Y=91:H=9
<ﬂ] Case Else @)
Do
J If D> 29 Then y
@ Wait 1:Incr S @
0 D=1:Mo=1:IncrY Y
If S>59 Then
( isas End If )
{ =0:IncrM End Select ()
Endlf CI_H .LdH.ll.ll_M_ll_ll_S
@ If M >59 Then S: ome..c ’ ‘ﬂ’c vt @
{ M=0:IncrH Lffja:(e.%.’nll I’\/lcursf: 'OD )
( End If Led Vit Mo )
( If H > 23 Then °op 0
A End
( H=0:IncrD g
o QO
a] End If [a
Select Case Mo
f y
o Q
f y
0 38
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Sregfile = "m16def.dat" Db5 = Pd.5, Db6 = Pd.6, Db7 = Pd.7
Scrystal = 8000000 ,Rs=Pd.1, E=Pd.2
Config Lcdpin = Pin, Db4 = Pd.4, Config Lcd =16 * 2
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Config TimerO = Timer , Prescale = 8 End

Dim A As Word , B As Word Label:

Timer0=5 Incr A

Start TimerO If A=4000 Then

Enable Interrupts Incr B

Enable OvfO A=0

On OvfO Label Cls : Cursor Off : Locate 1, 8 : Lcd B

Do End If

Loop Return

Mg |y (oo w2585 ol ot 0 a0 ol Sl ool b el ali s

i oElE 55+ 11703
128 wTaL2 PC3/TMS f522 91:681:81
AQm PC4/TDO >
om PAD/ADCO PCS5/TDI =58 @ g i 0 _ N
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m PA2/ADC2 PCT7/TOSC2
S5 PaaADCs ata IR EEIEEEEEREE
PA4/ADCA PDO/RXD p=——
222 PasiaDcs PD1/TXD |12
== PABIADCE PD2/INTO a7
PATIADCT PD3/INT1 =Te
|m PD4/OC1B 75
m PBO/TO/MXCK PDS/OC1A =0
m PB1/T1 PD&/CP1 =51
e PB2/AINOANT2 PD7/OC2
= PB3/AIN1/OCO
tm PB4/SS
4 o el e |2 =
PB7/SCK AVCC p——
a] ATMEGA16 [ﬂ
f Sregfile = "m16def.dat" Dim N(6) As Byte, S(6) As String * 2 [J
f y
E] Scrystal = 8000000 Timer0=5 é
g] Config Lcdpin = Pin, Db4 =Pd.4, Start TimerO [@
f y
( Db5 =Pd.5, Db6 = Pd.6, Enable Interrupts )
<2 QO
f Db7 =Pd.7,Rs = Pd.1, E=Pd.2 Enable Ovf0 y
f y
E] Configlcd =16 * 2 On Ovf0 Label é
@ Config TimerO = Timer , Prescale = 8 N(3)=9:N(4)=1 @
f y
( Dim A As Word, | As Word N(5)=1:N(6)=91 )
o Q
f y
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: Do End If

(0 If N(1) > 59 Then End Select

g N(1) =0 : Incr N(2) Forl=1To6

0 End If If N(i) < 10 Then
g If N(2) > 59 Then S(i) = "0" + Str(n(i))
( N(2) =0 : Incr N(3) Else

g End If S(i) = Str(n(i))

i If N(3) > 23 Then End If

g N(3) =0 : Incr N(4) Next

( End If Loop

g Select Case N(5) End

i Case 1 To 6: Label:

f

S VS,

Y EIEERNEERSEDR DXV EDRNEEXNEDREDRVEDRNEERNEDREDXERNEXNEREERED

If N(4) >31 Then
N(4) =1 : Incr N(5)
end If

Case 7To 11:

If N(4) > 30 Then
N(4) =1 : Incr N(5)
End If

Case Else

If N(4) > 29 Then

N(4)=1:N(5)=1: Incr N(6)

Incr A

If A=4000 Then

Incr N(1)

A=0

Cls : Cursor Off : Locate 1, 4
Led S(3); ":"; S(2);":"; S(1)
Locate 2, 4 : Cursor Off

Led S(6) ; ":"; S(5); ":"; S(4)
End If

Return
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i [I [I Sra] PACIADCH Pos0SG1 (42 2ol oz sasxess [ﬂ
EPAZ/AD@ PC7TOSC2 f— Tolol olelel slelelalelelela
9] P e ooz PP SFPEEREF @
" . gi—: PAS/ADCS PD1/TXD :12
{4 B parancr PoINTY [ P
( " n . PDAOCIR :13 0
w e S el
f 30 || 330 % PR2/AING/INT? PD7/0C2 |22t )
i . T - S )
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- - 8] PB7/SCK AVCC [0 -
? ATMEGA16 ?
f )
( Sregfile = "m16def.dat" On Ovf0 Label )
() Scrystal = 8000000 N(3)=9:N(4)=1:N(5)=1 ()
g Config Lcdpin = Pin, Db4 = Pd.4, N(6) =91 : N(7)=13 g
a] Db5 =Pd.5, Db6 = Pd.6, Db7 = Pd.7 Do [a
( ,Rs=Pd.1,E=Pd.2 Debounce Pina.6, 1, L1, Sub 3
f )
é Config Lcd =16 * 2 Debounce Pina.7,1, L2, Sub Eﬂ
Config TimerO = Timer , Prescale = 8 If N(1) > 59 Then
g Config Pina.6 = Input N(1) =0 :Incr N(2) E:
(0 Config Pina.7 = Input End If )
Config Pina.5 = Input If N(2) > 59 Then
g Dim A As Word, | As Word N(2) =0 : Incr N(3) g
Dim N(7) As Byte , S(7) As String * 2 End If
i Dim D As Byte If N(3) >23 Then )
f )
Timer0=5 N(3) =0 :Incr N(4) )
() Start TimerO End If )
g Enable Interrupts Select Case N(5) E;
Enable OvfO Case 1 To 6:
@
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If N(4) > 31 Then

==

N(4) =1 : Incr N(5)

S VS,

End If

=

Case 7 To 11:

=

If N(4) > 30 Then

S VST,

N(4) =1 : Incr N(5)

=

End If

S ST,

Case 12:

=

If N(4) > 29 Then

=

N(4)=1:N(5) =1 Incr N(6)

S VS,

End If

=

Case Else

S VS,

If N(5) > 12 Then

=

N(4)=1:N(5)=1:Incr N(6)

=

End If

=)

End Select

If N(6) >99 Then
N(6) =0 : Incr N(7)
End If
Forl=1To7

If N(i) < 10 Then
S(i) ="0" + Str(n(i))
Else

S(i) = Str(n(i))
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End If

Next

Loop
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ke digd i oSl
End
Label:
Incr A

If A=3080 Then

Incr N(1)

A=0

Cls : Cursor Off : Locate 1, 1
Led S(3); ":"; S(2);":"; S(1)
Locate 2, 1 : Cursor Off

Led S(7) 5 S(6) ;"/" 5 S(5) ; "/" ; S(4)
End If

Return

L1:

Incr D

Locate 2, 13:

Select Case D

CaseO:Llcd" "

Case 1: Lcd "sec"

Case 2 : Lcd "min"
Case 3 : Lcd "hor"

Case 4 : Lcd "day"

Case 5 : Lcd "mon"
Case 6 : Lcd "yer1"
Case 7 : Lcd "yer2"
End Select

IfD>7ThenD=0
Return

L2:
Incr N(d)

Return
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(
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(
g
(
g
(
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9] AVR sl ) €5 Saa s haiie Mg S a8

Onled o il 4y 84 09, Sl y Cos 43 9 (> JREX N Icd 30 ST S aS s g gl 4ol Jle

22 RESET PcoiscL 2
. PC1/SDA :—gi +
el XTAL1 PC2/TCK 03
— XTAL2 PC3/TMS %6 »nouw
on PCATDO (%= 224 2%. 85833885
39_.PA0IADCU PCS/TDI._ZS LILIL L AL E|E|E|E|E|E|N|N
e et e IR R R
22—: PA3/ADC3 .ie
ET1 PA4/ADC4 PDO/RXD w15
San] PAS/ADC5 PD1/TXD 216
—— PAB/ADCE PD2/INTO
B8 paziancy PDI/NTT (221
PD4/0C1B
% PBO/TO/XCK PD5/OC1A :;g
=T PB1/T PD6/ICP1 21
Tl PB2/AINO/INT2 PD7/0C2
=1 PB3/AIN1/0CO
ul PB4/SS
ul PB5/MOSI 2 —_
0] persoc avee 2 '
ATMEGA16
Sregfile = "m16def.dat" Wait 1
Scrystal = 8000000 Next
Config Lcdpin = Pin, Db4 =Pd.4, Cls
% Db5 =Pd.5, Db6 =Pd.6, Locate 1, 16 ;
f )
( Db7 =Pd.7,Rs =Pd.1, E =Pd.2 Led Chr(127) )
<2 0%
d Configlcd=16 *1 ForA=1To 15 g
0 Dim A As Byte Shiftlcd Left Y
«a] Do Wait 1 @»
() )
0 Cls : Home : Cursor Off:Lcd Chr(126) Next Y
<2 QO
{ ForA=1To 15 Loop y
0 Shiftlcd Right End ()
{ g
o QO
() )
( )
o Q
() )
g 45
OSSNSO OO O
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9] AVR sla )l iS5 Saa s haiie Mg S a8

/segment L |8

COM-CAT

d ¢ b a

s el £4390 7SEgMENT
FOW PRV CER NSNSV T L IR LSRR W OSSR PRU P PR RN ON R ST PR R |
At (639,59 Olgias AT g &l sy fog oo @ WSS oles S piessls -2
ab abled o 05 g, slp 908 o S pie b Wb S jie ail 7segment o S Jlad gl s S i ol
D9 yho ] 4 by e

b led o 0,5 iy, 6lpg 9gd ke S e 4l Wb S e 155 7segment 0,8 Jld gl S i SIS
29h o gl a bgye alh

a2 ioled S iesslS 75e8 59,01, 0 sae aS s g (gl el o

2= RESET PCO/SCL
PC1/SDA

13: XTAL1 PC2/TCK
XTAL2 PC3/TMS

som PC4/TDO
PAO/ADCO PCS/TDI

g

PA1/ADCT PCB8/TOSsC1
PA2/ADC2Z PC7/TOSC2
PA3/ADC3

PA4/ADC4 PDO/RXD

;

W
b
L}

HE

PAS/ADCS PD1/TXD
PAB/ADCE PD2/INTO
PAT/IADCT PD3/INT1

PD4/OC1B

k4
n

:

-
n

PBO/TO/XCK PDS/OC1A
PB1/T1 PD6&/ICP1
PB2/AIND/INT2 PD7/0C2
PB3/AIN1/OCO

PB4/SS

PB5/MOS|

L8]
| ]

L)
L]

<
L]

32
PBB/MISO AREF [—=
88 ) pR7/SCK avce 32

ATMEGA16

Sregfile = "m16def.dat" Do
Scrystal = 8000000 Portc = &B00111111

B EERNEDEEN DN NN NN NN EEN DN EENEE
o] (@] EN
LILILS

Config Portc = Output Loop
SOOI O
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AVR sla )l iS5 Saa
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j P vl I =12 vl T
— ¢ QC 3 =— ¢ Qc P

ﬂ] 4— D QD —9 4— D QD :)9—
—q BIRBO QE [—= = BIRBO QE Pp—=

ﬂ] —3c RBI QF —r —3c RBI QF Oﬁ

( gLt QG b— =g LT QG p—

7448 7447

D9y o0 )5 a4 S e wilS7seg Jlasl 51,7448 S pie w1 7568 4 Jlasl o1 s 7447

a3 ialel 7SEEMENT (55, 5 48,5 Wl a5l oo 05,28 b, S5 d0e S5 45 dngi gl 4ol 1 Jlie
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22 RESET PCO/SCL
PC1ISDA
a] a<Hida 1L yran PC2ATCK
71189 H 12 {xa PC3MMS
ﬂ] 08 PC4/TDO
2081 pagranco PC5/TDI
a] <8 4 5 6 gg—: PA1/ADC PCE/TOSC
2 Pa2anc2 PC7/TOSC2
2] paziancs
ﬂ] . e PDO/RXD
c<Hc| 1 2 3 2 PASIADCS PDA/TXD
a] 2o Pasiance PD2/NTO
381 paziancy PD3/NT/
PD4OCIR
p<Hb 0 1 ;: PBO/XCKITO PD5/0C1A
2 —2o] PRuTH PDGICP
_ - - - 3 <32 PRIINTIAND PD7/OC2
4 <2 PBIOCOANT
[ ] [ ] [ ] [} A |>—6. PB4/SS
B [>——2r PRSMOSI
A 3 4 : ¢ [>——L= PBGMISO AVCC
b —=L2] pa7iscK AREF

-22
|m23
"
5
1%
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¥
¥
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mg 7l ”
T
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m1i6 2n
¢ ac
mi7 6m
T D aD
=18 BURBO OF
219 5¥ Ral F
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TaaT
| 30
D

ATMEGA32

Sregfile = "m32def.dat"

Scrystal = 8000000

Config Portd = Output

Config Kbd = Portb , Debounce = 50
, Delay = 100

Dim A As Byte

Do

L1:

A = Getkbd()

FOEIEDEDXEDRNEDXNEDEDXNEDNEDNEDREDNEDEEXNEDRNEDNEDNEENE

ei

If A=16 Then Goto L1
A = Lookup(a, Datl)
If A>9 Then Goto L1
Portd = A

Loop

End

Datl:

Data7,8,9,11,4,5,6,12,1,2

,3,13,10,0,14,15
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K=K =D
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AVR sl J1AS 5 Saa s ohtie 2ed (8 0S5 g

W
X=ANE=K

S
=

S
=

Do ioles S taedil b > 758 S (g9, |, 4657 sae a5 sy (sl Aol L

S
=

S
=

S REsET PCO/SCL :gg Z: A 0A :B > A

ﬂ] 3 PC1ISDA [2—Tod B o8 e—f> 8 [ﬂ
o peack 22 ¢ oc f—> ¢

ﬂ] 12 4 yra0 PCa/THMS |22—I2 ap et—> 0 [a
on poumo (28 A emeo e [o—D>E

H] o Prooco PesDl (22T 2 Rl OF eo—D> F [a
S PAtiacct PCOTOSCT (12 T G e
381 pa2iance pc7moscy (R

ﬂ] 378 paziancs 7448 [ﬂ
] n4
S Paginocs POORKD {2t—p> |

a] Sia| PASIADCS PDTAD | [> 2 [a
S Pasiance PO2INTO (118—f> 3
B2 pazianct POSINTH (I —> 4

ﬂ] . PD4OCIB |10 [ﬂ
—a] Peonckmo PDSIOCIA (15
28] iy PDG/ICP (2L [

H] % PBYNTZANG  PD7IOC2 ot ABCDEFG f

H] e e [a
| Pess

PB5/MOSI
PBO/MISO AVCC ==

-~

-
[
1=}

=

==

@

]
(%)
3

( e )
i Sregfile = "m32def.dat" Portd =2 )
f )
( $crystal = 8000000 Portc=5 )
f )
0 Config Portd = Output Waitms 10 ()
(! )
0 Config Portc = Output Portd =4 0
Do Portc=7
J Portc=4 Waitms 10 )
f )
i Waitms 10 Portd =8 )
f y
(0 Portd = 1 Loop ()
f y
0 Portc=6 End Y
{ | )
(0 Waitms 10 )
f )
f y
f )
f y
@
D NN OO




SEXSEEX S EDEEX S EDEX S EEVENEENENEVEXT

=
p— VS

=
i AVR sla ) S 5 S R ST PR )
f

N—
X=ANE=K

M}u u)yuj)}‘ owa‘b‘)J&JLw c\.ol.a).sJL.o

S
=

=

)

a] 15 xrau Peomax E_g [H
T PA1/ADC1 PC6/TOSC1 =59 16 | 5m C Qc l_10> C
| G meepERTS—a 2R )
(o mmme Y O @
e, mEET !
(O | O o S RRCSERS Y
(e )
0 ety e 2 )
a] ATMEGA32 [a
( Sregfile = "m32def.dat" Waitms 10 )
i $crystal = 8000000 A=50r64: Portd = A )
( )
( Config Portd = Output Waitms 10 )
() Dim A As Byte A=70r128:Portd=A (I
g Do Waitms 10 g
( A=40r16:Portd=A Loop )
f Waitms 10 End )
f )
é A=60r32:Portd=A Eﬂ
.MOPl?u"LQ).Q%UW}‘OOM‘L“)MJL&MU){IJM
Sregfile = "m32def.dat" Start TimerO
0 Scrystal = 8000000 Do Y
? Config Portd = Output Select Case Count ?
f )
onfig Timer0 = Timer , Prescale = ase 1:
Config Ti 0=Ti P le=8 C 1 )
0) Dim A As Byte , B As Byte A=40r16 )
g Dim Count As Byte Case 2: E:
Enable Interrupts A=60r32
i Enable OvfO Case 3: )
f )
! On OvfO Label A=50r64 ;
( g
() Timer0 =5 Case 4 ()
@
D NN




SEXSEEX S EDEEX S EDEX S EEVENEENENEVEXT

=
p— VS

=
i AVR sla ) S 5 S R ST PR )
f

N—
X=ANE=K

‘ A=70r128 If B=30 Then 3
( End Select Incr Count )
i Portd = A B=0 3
f )
é Loop End If Eﬂ
0 End If Count >4 Then Count =0 ()
( Label: Return y
f y
Incr B

S
=

S
=

e ioles 4B 1 alols L1, 0™9 slael a5 s g (sl asliy

=

)

f — )
o= | mEsET PCO/SCL :—gf-
a 15m PCT1/SDA | 222 H
152 xTAL pczmok (223
XTALZ PCarTMs 22
som PcaToo (232
ﬂ] K2 Pacanco PCs/TDI |22L [ﬂ
222 PatsaDCH PCE/ITOSC1 [a30
382 PaziaDc2 PC7/TOSC2 U2
ﬂ] o] Paz/aDcs -ia vm [ﬂ
== PA4/ADCA PDORXD fos A
2521 Pas/apcs PD1/TXD (212 =L
ﬂ] 2421 Pas/abcs PD2/INTO 212 22 c [ﬂ
PA7IADCT PD3/NTT |a1Z 2o
‘- PD4/OCTB |18 2H sireo
ﬂ] 121 Peororxex pos/ocia 219 £ rei [ﬂ
221 PB1/T1 Poe/cP1 (229 LT
S 2 PB2/AINOANTZ PD7/0C2 =21 L
ﬂ] 2o PB3/ANTIOC [ﬂ
2o Peasss
2 Fesmos -
a] 2= PeemmisO ARrerF |32 [ﬂ
PB7/SCK AVCC
ATMEGATS

S
=

K=

Sregfile = "m16def.dat"
Scrystal = 8000000
Config Portd = Output

Dim A As Byte

Do

A = Lookup(a, Datl)
Portd = A

Incr A

Wait 1

IfA>9ThenA=0
Loop
End

Datl:

Data0,1,2,3,4,5,6,7,8,9
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SEXSEEX S EDEEX S EDEX S EEVENEENENEVEXT
Gohie ngd A saSE [a

aled o,k 75eg Stlaisl oolinul b |, el asliy - Jlie

N—

AVR sla )l iS5 Saa

)

N—

S
=

LRI RIS =)
X=OR= K= RO

S
=

ﬂ] A <12 PBONCP PDO/RXD [ﬂ
B <h3 PB1/OC1A PD1/TXD
c <}t (=2 168 )] oRoss/ociB PD2/INTO
a] D D PB3/MOSI/OC2 PD3/NT1 [H
E 2 4 PB4/MISO PD4/XCK/TO
F :i QF RBI g o PBs/scK PDs/T1 (oot
a] ) QG LT 2o PeExTAL1/TOSCH PDE/AING (12 [H
PB7/XTAL2/TOSC2 PD7/AIN1

PCO/ADCO
PC1/ADC1
gg: PC2/ADC2

PC3/ADC3

==
=

{ e e I ]
a] A;(;EIGR:BSET AREF [a
g Sregfile = "m8def.dat" End If g
( Scrystal = 8000000 If M >59 Then )
( Config Portb = Output M=0:IncrH )
y Config Portd = Output End If )

S
K="

Config TimerQ = Timer, Prescale = 8 IfH>23ThenH =0

S
=

FOEXIEDOEEXNEDRNEEXNEDRNEERNEDRNEDNEDRNEDRNEDRNEENEDRNEEXNEERNEXNE

Timer0 =5 Loop
Enable Interrupts End
Enable TimerO Lable:
On Ovf0 Lable Incr B

Start TimerO

Dim A As Byte, B As Word B=0:IncrS
DimS As Byte , H As Byte , M As Byte End If
DimC As Byte , Count As Byte Incr C
H=9 If C=32Then
Do Incr Count
If S>59 Then If Count > 6 Then Count =1
S=0:Incr M C=0
S

If B=4000 Then

)
)
)
)
)
)
)
)
)
)
)
)



a

N—

AVR sla )l yiS 5 Soa
Portd=0

N—

==

Select Case Count

S VS,

Case 1:
g Portb=H /10
0 Portd =1
ﬂ] Case 2:

=

Portb =H Mod 10

=

f Portd =2
( .
( Case 3:
() Portb=M /10
d Portd =4
()
Case 4:

SE VST O ST O ST

=)

OTMmMOOw>
AANAANAAA

PBO/ICP
PB1/OC1A
PB2/SS/OC1B
PB3/MOSIOC2
PB4/MISO
PB&/SCK

PB6/XTAL1/TOSC1
PB7/XTAL2/TOSC2

PCO/ADCO
PC1/ADC1
PC2/ADCZ
PC3/ADC3

PC4/ADCA4/SDA

PC5/ADCS/SCL
PC6/RESET

Sregfile = "m8def.dat"
Scrystal = 8000000
Config Pinc.0 = Input
Config Portb = Output
Config Portd = Output

DimW As Byte

FOEXIEDOEEXNEDRNEEXNEDRNEERNEDRNEDNEDRNEDRNEDRNEENEDRNEEXNEERNEXNE

ei

ATMEGAS

Dim B As Byte, K As Byte, A As Byte

VX EEX XX XN EXNEENENENEEXY
(5 e yed i o2

Portb = M Mod 10
Portd = 8

Case 5:
Portb=S/10
Portd = 16

Case 6:

Portb =S Mod 10
Portd = 32

End Select

End If

Return

D23 uled 7SEE 0390 (599 A Adlol e a4 axly Sl ol HLad b e b aS s g (gl 4ol : Jle

OTmMmOOm¥>

K=K K=K K=K K= K= K=K K= K= K= K= K= K=K KA =K,

K = Lookup(b , Table)
W = Lookup(a, Table)
Portb = K

Portd =W

Debounce Pinc.0, 1, L1, Sub

OO CENCEAN OO



| AVR W )l 58 5 S s ohiie gl i oSl
End K = Lookup(b , Table)
0 L1: W = Lookup(a, Table) )
f Incr B Portb = K )
i 3
( If B>9 Then Portd =W )
0 B=0 Return ()
g Incr A Table: g
( End If Data &B0111111, &B0000110, 0

&B1011011, &B1001111, &B1100110,
&B1101101, &B1111101, &B0000111,

=

)

If A>9 And B =0 Then

g A=0 &B1111111, &B1101111 g
0 End If [a

==
=

enter oS o5 Laws isles 7S€8 (55,9 9,5 aulS axis 5l 1) 3, ez soe G oS dwsgin gl aol 0 Jlie

il gaw v, atieg 09l Gigels la7/seg sobod

==
=

ST O ST P ST O S,
XK= OO OK=

S
=

K=

f

]
a] RESET PCI/SCL [ = QA A [ﬂ
¢ - +——7/8 | & I S " SERD )

R3 __ A Egﬂgg =F > = gIIRBO SE E
) ~+— 4|5 |6 s S majo=3 HTOEE )
a] KC d—:%l— ¢l 1 2 3 = ﬁ é% Eﬁﬁggj PDORXD :]‘; " [ﬂ
( i ‘e I>_|>_D§g FA/ADCS Fo2To [1E )
o I——|o 0 = + B 17 e/t (o2
i . i o iz g
0 i e saniocs e Y
R5 []R6 []R7 []R8 o8] o smos

ﬂ] 470 470 470 470 L Pesmiso AREF |22 [ﬂ
a] K1 .KZ .KS .K4 ATMEGATS @
d Sregfile = "m16def.dat" , Delay = 100 )
() )
f Scrystal = 8000000 Dim A(4) As Byte, | As Byte 0
i Config Portc = Output Dim C(3) As Word , Count As Byte )
( )
Config Kbd = Porta , Debounce = 50 Dim B As Byte , D As Byte )
@

ei



POERXEEXNEEXNEEXNEXNEEXNEEXNEEXNEEXNEXNEENEEXNEXNEEXNEEXN EEXNEXNEEXNEEXNEENEEXNEEXNEEXNEEXNEXNEVEXYT)

i AVR sl ) iS5 S ke 2l (8 oSl

Dim Bb As Byte Loop

( Config TimerO = Timer, Prescale =1 End

( Timer0 =5 Label:

(

( Enable Interrupts Incr B

0 Enable Timer0 If B=20Then

g On OvfO Label Incr Count

ﬂ] Start TimerO B=0

f Do If Count >4 Then Count =1

g Forl=1To 4 End If

0 L1: Select Case Count

g Ali) = Getkbd|() Case 1:

ﬂ] If A(i) > 15 Then Goto L1 Portc=A(1) Or 16

( A(i) = Lookup(a(i) , Datl) Case 2:

g If A(i) >9 Then Goto L1 Portc = A(2) Or 32 %

9] Next Case 3: [é
03

| L2: Portc = A(3) Or 64 )

d Bb = Getkbd Case 4: [@

( =Ge () ase 4: )

0 If Bb > 15 Then Goto L2 Portc = A(4) Or 128

g Bb = Lookup(bb , Dat1) End Select E:

If Bb =15 Then Return

i Forl=1To4 Dat1: )

f . )

¢ A(i)=0 Data7,8,9,11,4,5,6,12,1,2 3

Next ,3,13,10,0, 14, 15

{4 End If [@

f )

f )
Q

f )

f )
Q

f )

f )

ei
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R EXNEDNERNERNEDNEDNEXN XNV

FOEIEDEDXEDRNEDXNEDEDXNEDNEDNEDREDNEDEEXNEDRNEDNEDNEENE

ei

AVR sla )l iS5 Saa

VX EEX XX XN EXNEENENENEEXY
(5 e yed i o2

STOP (T 0)kgo (195 g oS (ke 4y £9,8 olS (305 b 45 dngin (6 5%083,8" asli ] jals 5l ooliial b+ Jlio

(Ngis ools las o3l < S ,ho).0e0

A2 o iwlad 1) 42 s g aslicasl pos e ,S ]

LY 14m

QA A PBO/ICP

QB B :; 12: PB1/OC1A
ac C lae =a PBZ/SSIOCIB
ab D PB3/MOSI/OC2

WTmMoOO >

QE BI/RBO g 13: PB4/MISO
aF RBI PB5/SCK
QG R = 9=

Tom
7447
STOP - START 238 5co/ADCO

24m
- _.:I_% L] PC1/ADC1

o] O—e Sow]| PC2/ADC2
| S7m] PC3/ADC3
R1 Sem| PC4ADCASDA
—a] PCE/ADCE/SCL
330 PC6/RESET
ATMEGAS

PDO/RXD
PD1/TXD
PD2/INTO
PD3/INT1
PD4/XCK/TO

PB6/XTAL1/TOSC1
PB7/XTAL2/TOSC2

PD5/T1

PD6/AINO [—=
PD7/AIN1

AVCC |—
AREF |—=—

Sregfile = "m8def.dat"

Scrystal = 8000000

Config Portb = Output

Config Portd = Output

Config Timerl = Timer, Prescale =1
Config Timer0Q = Timer , Prescale = 8
Config Pinc.2 = Input

Timer0O=5

Timerl = 55535

Enable Interrupts

Enable Timerl

Enable TimerO

On Ovfl L1

On OvfO L2

Stop Timerl

Start TimerO

Dim A As Word , B As Byte
Dim M(6) As Byte, C As Byte
Dim Count As Byte, | As Byte
Dim D(6) As Long

Do

Debounce Pinc.2,1, L3, Sub
If M(1) >9 Then

M(1) =0 : Incr M(2)

End If

If M(2) >9 Then

o T 0 T 0 i T O T e i i 0 i e =

)

X=X RO = K= K= K= K= K=
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‘ M
(2)=
: " )=0:IncrM
a] dIf .
I
g fM(3)>9T
. hen
a] - If Count
a] End If " Ca :
a] : o n Count =
a] - - 0 999: N
a] M(4) g C unt>3Th
=O. a en
.ln sel ;
a] - - - 000 To 9999 -
g - ) unt>4Th |
>9 as en
a] = - If e 10000 To 9 o
a] - - ) ount >5Th o
. enC
g 3 If e 100000 To o
>
D : -~ 999999:
( (6) = e | : '
{ M(6) * =0 . -
N 10000 eCt X
a] . O Sel
| : ect Ca
a] : : C se Co
M(4)* asel "
a] N 1000 P :
@ g ortb =
() D(2)=M N C :
: " ortd=3
a] D(1)=M ” : . 2
D(6) . -
f =D(6) + & -
a] : ) P : 16
" ortb =
@ : . M(3
: C ):Po
a] : ase 4. -
= = - ):Portd =
X Select o : |
C Case D(6) =
a] ase0To 9: s :
a] If Cou | | : |
@ nt>1T 8
a] o hen Coun : g
g To 99: - -
E
nd Select
Loop
E
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SE= VST ST O ST VST O ST 9 ST O ST O ST 8 ST O CE VST VST O ST O ST VST ST O CE O ST O ST,

BN EDNEEXRNERNEEXN RN XN EEXNEERNEEN NN
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L1:

Incr M(1)
Return

L2:

Incr B

If B=30Then
Incr Count
B=0:Portd=0
End If

Return

L3:

Incr C

Config timerO=conter , edge=rising/falling

slo ad slaws g o (398 (g0, Sl eoliiwl b ogd Jleel PIND.0 al a0 Ll 5,90 Wb a5 500,

Config timerl=timer, prescale=1/8/64/256/1024

ged Gyled |y oads Jlosl zge S 0nig) (malifonis YL

Do oo 4Ll LIS glyizme a4y axly S oy, ealbfonis, YU ad 2 Jlesl L
A5k 07255 0 wilg  wval jlais a5 conterO=val  :aJgljlais ool
ool Cob gg5lVAr e a5 var=conterQ :conter Joie il

sl ol b gl IS0 b asBy) ool ks b s

5L 0765535 0 iy o val jlade as timerl=val 1 el 4 adgl lode ool

IfC>2ThenC=1

Select Case C

O

Case 1: Y
Forl=1To 6 [@

‘ )
M(i) = 0 [@
Next 2

X=X

Start Timerl

XK=

Case 2:
QL
. )
Stop Timerl [é
End Select [é
QL
Return 2
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ﬂ] AVR sl ) €5 Saa soktie ngd 8 eaSbil [9

)

ibgio oyl 0,lgo 305 b g auS led ds 9,0 S 405 b aS s |y (6 50g5,S ael p 1 el 5l eolainl b : Jlie

S
=

(LCD (55,5 (alod)-ogs

S
=

SE= VST ST O ST VST O ST 9 ST O ST,

BOEEXIEDREERS DX EDXRNEER DR ERNEERNEDRERVERNEEXNEDREERED

Do End If
Debounce Pind.6,1, L1, Sub Next

Sregfile = "m8def.dat"

Scrystal = 8000000

Config Pind.6 = Input

Config Lcdpin = Pin, Db4 = Pind.O,
Db5 = Pind.1, Db6 = Pind.2 , Db7 =
Pind.3, Rs = Pind.4, E = Pind.5
Configlcd =16 *1

Config Timerl = Timer, Prescale = 1
Timerl = 55535

Enable Interrupts

Enable Timerl

On Ovf1l Label

Stop Timerl

Dim T(4) As Byte , S(4) As String * 2

Dim | As Byte , Count As Byte

If T(1) > 99 Then
T(1)=0:IncrT(2)
End If

If T(2) > 59 Then
T(2) =0 : Incr T(3)
End If

If T(3) >59 Then
T(3) =0 :Incr T(4)
End If

If T(4) >99 Then T(4) =0

Forl=1To 4

If T(i) > 10 Then
S(i) = Str(t(i))
Else

S(i) = "0" + Str(t(i))

g lg—: PBOICP1 PCOYADC :—gi )
S oo 22 003 0143162 j
(0 | PB2SSIOCTB PC2ADCY (2 ]
o PBAMOSIOC2 PCIADCS (22 o
( Tou] PEAMSO POYADCASDA |57 2ol 92, 35333885 )
251 pBsiscK PCSIADCEISCL |22
0 2o PBSTOSCIXTALY PCBRESET [ [ |.! o[ Aol « |ﬂ.ﬂ|c.7|§|; oas \
108! pB7mOSCANTAL . . ;
: RS :
PD2/INTO S D6
PD3AINTY :g >or 0b RS| E D4 DEDB D7
9] PDATOXCK o> RS & R [g
PD5/T E
( 2L aRer PDSIAINO 212 oI | Y
) 2 avee PD7/AINT P2 330 5
ATVEGAS =

X=X K= XK= K= K= K= K=
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freq=8.4khz im

AVR W )l 58 5 S
Home : Cursor Off Lcd S(4); ":";

S(3);™";8(2); "5 8(1) ;" "
Loop

End

Label:

Incr T(1)

Return

L1:

Incr Count

If Count >3 Then Count=1

SEXSEEX S EDEEX S EDEX S EEVENEENENEVEXT

(5 e yed i o2

Select Case Count
Case 1:
ForlI=1To 4
T(i)=0

Start Timerl
Next

Case 2:

Stop Timerl

End Select

Return

A S o Sty ol sy el b o Ml (sl 4 o by oy 9o S5 S S5 o5 31

Sedia ool b Ll olass i ke (gl 1l 5o giis ooliial 1S o ke odsi (&l s yio yosli)

—— RESET

XTAL1
—— XTAL2

PAQ/ADCO
PA1/ADCAH
PA2/ADC2
PA3/ADC3
PA4/ADC4
PAS/ADCS
PAB/ADCS
PA7/ADCYT

| PBOTOXCK
AV . Sa| PB1/T
NN S PB2/AIND/NT2
PB3/AIN1/OCO
PB4/SS

/\/
6l
0 ? | | | - PBS/MQSI

FOEIEDEDXEDRNEDXNEDEDXNEDNEDNEDREDNEDEEXNEDRNEDNEDNEENE

ei

I m ;: PB6/MISO
PB7/SCK

e freq:8408 HZ

— ATMEGA16

Sregfile = "m16def.dat"
Scrystal = 8000000

Config Lcdpin = Pin, Db4 = Pd.4,

Db5 =Pd.5, Db6 = Pd.6, Db7 =

Pd.7,Rs=Pd.1,E=Pd.2

Configlcd =16 * 2

Config Timer0 = Timer , Prescale = 8
Config Timerl = Counter, Edge =
Rising

Enable Interrupts

E

K=
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Enable OvfO

Enable Ovfl

On OvfO L1

On Ovfl L2

Timer0O=5

Dim A As Word , B As Byte
DimF As Long

Start TimerO

Home : Lcd "frequency meter"
Do

Loop

End

L1:

Incr A

(PWM) Gl (250 GamwYgae Sl o S BT 50l g Sy

Config timer=pwm , pwm=8/9/10,coparea A pwm=clear up/clear down/disconnect,

If A=3906 Then

Stop TimerO : Stop Timerl
F=B *65536

F=F + Counterl

Cls : Cursor Off : Home
Lcd "freq:" ; F; " HZ"
A=0:B=0:Counterl=0
Start TimerO : Start Timerl
End If

Return

L2:

Incr B

Counterl =0

Return

: PWM

compare b pwm= clear up/clear down/disconnect, prescale=1/8/64/256/1024

1023~0 oSals g 071023 51 aS ol oo 10 05 jlads S§ & jg0 40 peuls <> ol .o PWM=10
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250 |
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Sgiue hog 5VA6 5Ly 4, VCCs VSS slo aly

{

3,5 JysS Caglie JLail b ol oo &S Canl (9,5 b,z 0,5 Sgaze gl SENSBg sENSA sl 4

Ngige Jog 9,500 PWM o (25,5 4 ENB ENAGLe 4l

Mg&;o)w)yy d....a)){.’ ‘Sll,.uf LgL(b 59959 |N29|N1 LSL‘b c\.:L)

i 53 0 Lo ysige i D JyiS sle 69555 ING 5 IN3 slo il

Al S 0,leds g0 (5l =97 sl b ouT2 9 OUT1 ;s b

D 98 0,led j5ige sl (29,5 sle 4y OUTA 3 OUT3 sle 4Ly

62

OO

RSN DX DX NN XN XN EEXN NN
XA AR AR EAIE AT

==

OO0

3



=

fé

)
)
)
)
)
)
)
)
)
)
)
)
)
)
%
)
%
)
%
)
%
)
%
)
%
)

==

AVR sla )l iS5 Saa bt ngd (S eaSbil

==

e] )
LT
a @
e] )
i )
( 2l——— > t [é
e] )
e] )
e] )
) 3 g 0

==
==,

A
v

==
==,

S
==,

D09 S ol Sve

ho 4O s g D.C =100 X

S
==,

I ol o

==
==,

S
=0

ol & b oxes Lzs D.C=100 4 ya0 b (s oaums Lii D.C=0 568 alaly jo a5

S
=

K=

1 T
vav = [V dt

b
\E:

N AN AN AN AN AN AN AN AN,

Ojgo pl o 0s ad 5 ks 0 Ty bl 1y JuSws g SO olej ST
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FOEIEDEDXEDRNEDXNEDEDXNEDNEDNEDREDNEDEEXNEDRNEDNEDNEENE

ei

i

AVR sla )l iS5 Saa

D13 5i 1y 5590 595 (65500 MlS Lawg 53,5 3k 5 05 1S90 590 ly 94lS 93 Lawg oS s sl asl s Jle

|T=|

A 12v %
=8 RESET PCO/SCL %D int .
n PC1SDA (22> in? . .
S xmu PC2TCK (222
L28) 7L PC3ITS (22 on
sn Poarmo (=88 i >—2 w1 vee v
2{ Pavanco posmi (22 in2 [>—Iof N2 ouTt
L2{ patianci PCBTOSCH |oo aks
388 pa2mDC2 PCTTOSC2 2 122 g ouT2
¢ .'(L d 3181 pasaDca ENA [>—2 ENg
o 0 Ll ] PDURKD |t RULY e ouT3
= 0 o IR
[' = [' O [' G oo PASADCE PDIMD (212 .
FHow Ho= A pasacs PD2INTO (=& R ouT4
Jd o .T o 1= 2 eaaoc PD3NTI (=1L SENSB  GND
. PD4OCIB (T3 ENA
1o POk PDSIOCIA (=2 —{> ;
= P PDBICP1 (220
o PBZANOINT2 PDTIOC2 |2
—{ PB3AINII0CO
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Sregfile = "m16def.dat"

Scrystal = 8000000

Config Timerl = Pwm, Pwm =8,
Compare A Pwm = Clear Down,
Prescale =8

Config Portb = Input

Config Portd.5 = Output

Config Portc = Output

Portc.0=1
Portc.1=0
Pwmla=1
Do

Debounce Pinb.0, 1, L1, Sub

Debounce Pinb.1,1, L2, Sub

Debounce Pinb.2, 1, L3, Sub

Loop
End
L1:

Incr Pwm1la

If Pwm1la > 254 Then Pwm1la = 254

Return
L2:

Decr Pwm1la

If Pwmla = 255 Then Pwmla=1

Return

L3:

Toggle Portc.0 : Toggle Portc.1

Return

L1298

VX EEX XX XN EXNEENENENEEXY
(5 e yed i o2

X=X X=X OX =KX= O OO ==K,
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S
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S
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S o> M1 M2

=
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() ol> maxg o el maxg o ,Swl )
f )
ﬂ] e maxg o, > maxgy 5,5 [9
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g Sl max,g s Sl mid, o).f.ao g
a] 12v - [a
L e PCUSCL 22> int %—
H] . PC1/3DA :—§3[> in2 . , [H
—1 XTAL1 PCTCK ==> in3
ﬂ] RELL g% AT PCATMS 2 ind [ﬂ
PoamDo P2 i 2t vee vs
EALL e PCSTDl PRl o2 ot 2 ouTt |4
a] B8 o pmct peemosct B jna 128 s [H
ﬂ] gi—: PA2IADC2 pCrTosCz R ing D%—: N4 ouT2 —la [ﬂ
'] RlGHTgSZ: Eﬁi?ﬁggj PDORXD :—1‘51 Eﬁé EE EEQ ouTs 2
a] Tin] PASIADCS PO1TAD ca 1n " [H
e e cerilb) CoPRVA w1 bt
13
3 wflee  ZEEE T g
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| | | | | | | | =7 PB5/MOSI o
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Sregfile = "m16def.dat" Do 3
f )
( Scrystal = 8000000 Debounce Pinb.0, 1, L1, Sub )
() Config Timerl = Pwm, Pwm =38, Debounce Pinb.1,1, L2, Sub ()
Compare A Pwm = Clear Down, Debounce Pinb.2,1, L3, Sub
( Compare B Pwm = Clear Down, Debounce Pinb.3, 1, L4, Sub 0
f Prescale = 8 If Pinb.0 = 0 And Pinb.1 = 0 And y
Config Portb = Input Pinb.2 =0 And Pinb.3 =0 Then
() Config Portd.4 = Output Portc=0 ()
4 Config Portd.5 = Output Loop P
f )
Config Portc = Output End
f )
@
D= "EOEOEOEOBOEOBOEOBOEOEOEAN
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L1:

Pwmla =254 : Pwmlb =254

Pinc.0=1:Pinc.1=0:Pinc.2=1

Pinc.3=0
Return
L2:

Pwm1la =254 : Pwmlb = 254

Pinc.0=0:Pinc.1=1:Pinc.2=0

Pinc.3=1

Return

ADC s ay iy otel Cass Jlizns laieconl Jazmss 45 SobTloie o o o] dibss 45 el 1C S, ADC

1y (g o5l 9) 69,9 SlLT5Ldg MaXy MIN jlaie o (wlal cpl ol oo 8/9/10 Wil o ADC cds

il e 100 ADC s a5yl 5,5 b s VinaxA=5 5 VininA=0 e

Vimax = Vimin _

QIS o (GO oS Caliee plaw 256/512/1024

=49 mVolts

1024

Dgd o0 00938 Jlumus sue 4 axly SO (699,9 SIUT 5y o oy L 4.9 iolEl Gyl 4 s ol o
50 Los Ltal38l az 30 SO sl 4 jgmiow (] 1009, (o0 HI5 @ e (slod (55 ol (sl IM35 g Mo
A5 10MV 5l S T cds aS 0,5 soliwl ADC i cwols g,y ool 5hasS oo low (2alS 10MV jgucs 59,5
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X=X X=X =X OSSO

3,10 0925 Vier calizes £45 3 9,50 ADC Joo j00i55 o

OSSOSO

L3:

Pwmla =254 : Pwmlb =100
Pinc.0=1:Pinc.1=0:Pinc.2=0
Pinc.3=1

Return

L4:

Pwmla =100 :Pwmlb =254
Pinc.0=1:Pinc.1=0:Pinc.2=0
Pinc.3=1

Return
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W

S ST
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S VS,
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S VST,

35y et IS 4 ST oo S 55,5 Log sl Co™Cr JUlS 8 45wl ADC lsic 4 C )5 ATMEGAS o
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@ Sbl g0 SIS 50,5 Jog sl Ag™A7 JUS 8 a5 el ADC lgie a4 A &40 5YL 5 ATMEGALG o

SE= O ST O ST,

9y 2,8

S VS,

5,5 oolatul 1/O e 4y o)lg  ood ol 00y iy 25 ADC (lgie a4y oS gl b 5l 1assS

S VS,

:ADC 00,5,

S VST,

Config adc=single/free, prescaler=auto , reference=internal/Avcc/Vref

S VS,

:ADC IS &) g4 8,500

START ADC
: ADC jlaie yaslys
var=getadc (,Lis,g0 JUIS o,le)
b word gg 5l b var s - 4

:Jlazm s vae 4 (5045 Jsllﬂ Jros

Jliaay dae= vin
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H] QoW ©F  o-aoswon D4 <F—ie PE3AIOSI/OC? PDINTI |22 [a
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( = = )
g Sregfile = "m8def.dat" Cls : Cursor Off g
? $crystal = 8000000 Do P
ﬂ )
{ Config Lcd = 16 * 2 W = Getadc(0) )
( )
0 Config Lcdpin = Pin, Db4 = Pb.3, S=W*5 ()
( )
( Db5 =Pb.4, Db6 = Pb.5, Db7 = S=S5/1023 )
f )
é Pb.6,Rs=Pb.1,E=Pb.2 §$=S5-25 Eﬂ
Config Adc = Single , Prescaler = S=S*8
( Auto , Reference = Avcc Home : Lcd "Volt=";S;" " )
( )
() Start Adc Loop ()
( )
Dim W As Word, S As Single En
() i d, S As Singl d )
( )
( )
( )
( )
( )
@
b = WS e S0 ST e S ST S S e S 9 S e S e S e S|
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[ o | POSRESET AREF 2 = )
f i ATNMEGAB y
g Sregfile = "m8def.dat" W = Getadc(0) g
0 Scrystal = 8000000 S=W*5 0
f Config Lcd = 16 * 2 $=5/1024 3
f )
é Config Lcdpin = Pin, Db4 = Pb.3, S=5/S Eﬂ
0 Db5 = Pb.4, Db6 = Pb.5, Db7 = Pb.6 S=S-1 ()
( ,Rs=Pb.1,E=Pb.2 S=25/S y

Config Adc = Single , Prescaler = IfS<0ThenS=0

Auto , Reference = Avcc Home : Lcd "Resistance="

Start Adc Home Lower : Lcd S ; "K "

Dim W As Word, S As Single Loop

Cls : Cursor Off End

Do
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ei




